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&S X 4 B | TiENSDIER 73@7:?—;3 & 4 TIHMASDKE| F& 730)7(%?3 R 4 B2 | LIEHhSOLSE ﬁmk?é X 4 rtimhooks | B jJa)jc?—;é
(m) (m) (kN/m) BB RfE(m) (m) (kN/m) (m) (m) (kN/m) (m) (m) (kN/m)
1 100kN/mi%#8 2% 1.00/0.00 ~ 2.92 146.23| 3mz#B 2% -~ - - —| 100kN/mM%E#B 2% 1.00] 10.59 ~ 24.57 146.23| 3mZBA5 -~ - - -
Zzhlst 1.00] 2.92 ~ 10.70 100.00] Z=hilst |0.00 ~ 10.70| 2.78 14.04 zhLst 1.00] 5.00 ~ 10.59 100.00] #hList | 5.00 ~ 2457| 2.78 14.04
2 100kN/mM%E#8 % % 1.00{0.00 ~ 3.10 149.43| 3m##E 24| 0.00 ~ 0.45| 3.27 16.51| 100kN/m%#EZx5% 1.00| 10.97 ~ 26.76 149.43| 3m#i#BZ 5| 25.00 ~ 26.76| 3.27 16.51
ZThist 1.00]/ 3.10 ~ 10.89 100.00] Zhbllst |0.45 ~ 10.89] 3.00 15.16 ThLst 1.00] 5.00 ~ 10.97 100.00] Zhuist | 5.00 ~ 25.00| 3.00 15.16
3 100kN/m%##B %% 1.00{0.00 ~ 3.12 149.76| 3m##E 25| 0.00 ~ 0.56| 3.35 16.92| 100kN/ Mm% % % 1.00| 11.34 ~ 2797 149.76| 3mZi#BZ 5| 25.00 ~ 27.97| 3.35 16.92
ZFh st 1.00]3.12 ~ 10.90 100.00| #h st |0.56 ~ 10.90| 3.00 15.16 Fh st 1.00] 5.00 ~ 11.34 100.00] #hli4t | 5.00 ~ 25.00f 3.00 15.16
4 100kN/mM%#8Z% % 1.00{0.00 ~ 3.10 149.41|3m#%#E 25| 0.00 ~ 0.08] 3.04 15.36| 100kN/m%E#% % 1.00] 10.53 ~ 28.03 149.41|3m#%#8Z 5| 25.00 ~ 28.03| 3.04 15.36
Zzhlst 1.00/ 3.10 ~ 10.88 100.00] Z=hLlst |0.08 ~ 10.88] 3.00 15.16 zhLst 1.00] 5.00 ~ 10.53 100.00] Zhuist | 5.00 ~ 25.00| 3.00 15.16
5 100kN/mM%E#8Z% % 1.00{0.00 ~ 2.58 140.52| 3m%#BZ 5 -~ - - —| 100kN/m%i#8x % 1.00| 10.95 ~ 27.32 140.52| 3mZB %5 -~ - - -
zhist 1.00] 2.58 ~ 10.36 100.00] Zhbllst |0.00 ~ 10.36] 2.87 14.49 zhst 1.00] 5.00 ~ 10.95 100.00] Zhuist | 5.00 ~ 27.32| 2.87 14.49
6 100kN/m##B % % 1.00{0.00 ~ 253 139.70| 3m%#B 2 % -~ - - —| 100kN/ Mm%z 5% 1.00| 10.76 ~ 24.45 139.70| 3m%#B % % -~ - - -
ZFh st 1.00] 2.53 ~ 10.32 100.00| #hi4t |0.00 ~ 10.32] 2.59 13.07 Fhn st 1.00] 5.00 ~ 10.76 100.00] #h it | 500 ~ 2445 2.59 13.07
7 100kN/ Mm% 2% -l -~ - -|3mEZ5 -~ - - —| 100kN/mM%E B2 % - -~ - -|3m%EiBZ5 -~ - - -
zhlst 1.00/0.00 ~ 7.03 89.25| Th kst 1000 ~ 0.00]| 1.68 8.51 zhst 1.00] 5.00 ~ 8.93 89.25| =h ks | 500 ~ 8.93] 1.68 8.51
8 100kN/m%#8 % % -l -~ - -|3mE#Z 5 -~ - - —| 100kN/ Mm% 2% - -~ - -|3m%zE= % -~ - - -
Zzhst 1.00/0.00 ~ 411 51.46| Zh st 1000 ~ 4.11] 2.04 10.33 st 1.00] 5.00 ~ 5.00 51.46] Thus | 500 ~ 500| 2.04 10.33
100kN/mM%#BZ % ~ ImEREZD ~ 100kN/mM##BZ % ~ ImERBAD ~
zhus ~ Zhst ~ zh s ~ ZhLst ~
100kN/mM%#B % % ~ ImERERD ~ 100kN/M%E#BZ % ~ ImEBZD ~
Zzhsn ~ Zhus ~ zh s ~ Zhst ~
100kN/mi%##8 2 % ~ ImxHEz5 ~ 100kN/ Mm% % ~ 3ImEBZD ~
zhlst ~ zhLs ~ st ~ zhilst ~
100kN/m% 2% ~ ImEEZ D ~ 100kN/ Mm% % % ~ 3ImEHBZD ~
Zh s ~ Zhst ~ zhst ~ ZhLst ~
100kN/m%#8 2 % ~ ImERERD ~ 100kN/ Mm% % ~ 3mEBRD ~
ZH LIS ~ Zh st ~ zh s ~ Zzh s ~
100kN/mi%#8 2% ~ ImEEZRD ~ 100kN/ Mm% 2% ~ ImEBZD ~
Zh LSt ~ Zh st ~ ZhLIst ~ Zh st ~
100kN/m%##82.% ~ ImEEZ D ~ 100kN/ Mm% % % ~ 3ImEHBZ D ~
zhilst ~ Zhs ~ Thst ~ Thilst ~
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